CLASS : 12th (Sr. Secondary) Code No. 211
Series : SS-April/2021
Roll No.

YA
ECONOMICS
HAT - 11
PART - 11
(aEgfss 9%9)
(Objective Questions)
(Academic)
[ o= ud ool e |
[ Hindi and English Medium |
(Only for Fresh/School Candidates)

o U Tq F T fF G F 3T FT-0T § JET 7 8 T F97 40 &

Please make sure that the printed pages in this question paper of Part-II are 8 in
number and it contains 40 questions.

o gheEreff 7T T To FIT-UH T 9T [rd)

Candidates must write their Roll Number on the question paper.

o YT 49 1 FUT 37 @ (@ 798 FERad &Y d [ geT9H [ T & 8, qhEr & IuT 59
T § g 4 @ w@hwre Tl A awam

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G 59T -

General Instructions :
() @ g7 IErt &

All questions are compulsory.
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(i) 97 FE 1 G 40 7% JEGITC J97 81 F9F J97 1 5 F &1 Fo7 dEr 1 & 12

7% FElAFHT J97 & T o7 F% 13 7 40 7% RFT @7,/ FE-TAaqd el F97 81
T8 FT STy FAT-GieaRr i

Questions from 1 to 40 are objective type questions. Each question is of 1
mark. Questions from 1 to 12 are multiple choice type questions and
Questions from 13 to 40 are fill in the blanks/True-false related questions.
Write correct answer in your answer-book.

1. fefiad § @ Hi9-a1 aaite sreise & =X 2 7 1
(A) | | (B) T Wit
(C) T & & (D) I & BT
Which of the following is a Macro-Economics variable ?
(A) Elasticity of demand (B) Inflation
(C) Theory of rent (D) Price of a commodity
2. ‘g ¥ ghy’ f & | fReed Prer At ® 7 1
(A) T T H BEG H P
(B) SUHIR Hl & § Jha
(C) SicredTue a&gall &l Hivd 4 g
(D) Sqer @l
'Rise in demand' is caused by :
(A) Fall in price of complementary goods
(B) Rise in the Income of the Consumer
(C) Rise in price of Substitute goods
(D) All of the above
3. v« HHr 1 (MR) 9 &, @9 : 1
(A) TR AaH B (B) TRYA
(C) TR aTferaH 8 (D) TR @M MR SR &
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5.

6.

7.
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When MR is zero, then :

(A) TR is minimum (B) TR s zero

(C) TR is maximum (D) TR is equal to MR

Re @ -1 ® 7 1
A) foorel o (B) %=d A & T

(C) e ol # Aol (D) feR Tt | ==

Which is a fixed cost ?

(A) Electricity bill (B) Expenses on raw material

(C) Wages of daily workers (D) Interest on fixed capital

A Hud H 18% gia 8 & HROT QR F 27% gia Bkl 8, o G b A Bhl 1
A) 1.5 (B) 0.5

(C) 3.5 (D) 2.5

If 18% rise in price causes 27% rise in supply, then elasticity of supply will be :

(A) 1.5 (B) 0.5
(C) 3.5 (D) 2.5

frefafad & @ ‘g oI HU H-91 8 7 1
(A) TFE HX - AR (B) A& HT + ST

(C) ST HT - AP (D) ST H Hig el

Which of the following means 'Net Indirect Tax' ?

(A) Direct tax — subsidy (B) Indirect tax + subsidy

(C) Indirect tax — subsidy (D) None of the above

F=1 4 @ aF-a1 9% B S 0§ o affagd 8 7 1
(A) FEE (B) =AE %

(C) W F% (D) ST H § HF T
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Which bank is authorised to issue currency ?

(A) Central Bank (B) Commercial Bank
(C) Co-operative Bank (D) None of these
TR g g ’
(A) APC= AC B) MPC= 1
AY 1- APC
1 1

© K=— D) K=——

1- MPC 1- MPS

Choose the correct equation formula :

a) apc=2C B) MPC=— "> _
AY 1- APC
© :1—11/1130 (D) K:1—11v.rps
‘G B AR AD 3R AS & e e Bl TGl % ST<FId BN ¢ 1
(A) YOt AR Gt (B) T IR &g
(C) T UFR & ey (D) IR § § a4l

According to Keynes, equilibrium between AD and AS can take place in a
situation of :

(A) Less than full employment (B) Full employment

(C) Beyond full employment (D) All of the above

frafafad & & $H-§ TEK T & 3699 & ! 1
(A) T oI o & : foeer

(B) omfdfe feran

(©) (A) X (B) AT

(D) HESe S| Hl ol & | gRafid &e
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Which of the following are the objectives of government budget ?
(A) Redistribution of income and wealth

(B) Economic stability

(C) Both (A) and (B)

(D) Transforming of public enterprises into private sector

11. ] fafvrg fo Rafy 9@ oreen # & B, &1 W 1
(A) TES P & aEGS B AN B 2 (B) awgel & Fe0 aegel FI [ el A
(C) T a1y & Toal A & S &€ (D) SWieE &+l
Barter system refers to that system wherein :
(A) Goods are exchanged for goods (B) Goods are not exchanged for goods

(C) Goods are exchanged for metals (D) All of the above

12. friciad § § @O dwger | Qe Té @ Sl 1
(A) Qe 1 SARE-FR
(B) 3¢ & 77 &S SR QST B A
(C) Hant+at g fear ™ T
(D) YT Gl
Which of the following is not included in balance of trade ?
(A) Import-Export of services
(B) Payment of interest and dividend among the countries
(C) Expenditure by the tourists
(D) All of the above

gfaT =T & @Il & Y

Fill in the blanks with appropriate words :

13. “USH % o Td HPi B G THE J&D e an foel T’ (gew R )
"An Inquiry into the Nature and Causes of Wealth of Nations" was written
by ...l . (Adam Smith; Pigou)
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20.

21.

22.
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TE P AR T H B AR B oo T3 S BN (T FvR, Ty 1
Want satisfying power of a good is called ............. (total utility; utility)
T T BA v TE B I B (qv%; Faenia) 1
Pepsi and Coke are the example of ......... goods. (complementary; substitute)
gRtacHslie ST & R . ¥ QR B B (STegereT; g 1
Law of variable proportions operates in ........... (short-run; long-run)

W9 T @G (AC) ¥€ I B &, a9 GENT ard (MC) 9% fEd AR @56 & .o
B B (A Fw)
When AC is falling, marginal cost curve is .............. average cost curve.

(below; more than)

7ol SRR & SRR adl 2l (AR > MR; AR = MR) 1
Under perfect competition .............. . ﬂlR > MR; AR = MR)
I8 HIF STl T AT T Gl .o Bl &, A BT FEAH &l (@, )1
That price at which demand and supply are .............. , called equilibrium price.
(equal; Less)
‘EAABR T F ..o femean 2 B (s, @) A
There are ............. sellers in 'Duopoly Market' (more; two)
AR & ST AT o % ST fhaT ST B 1

(& sreremey; Tare srETe,

(Micro Economic; Macro Economic)

JafRTh T A B TR H H QR o A q L FX | GCEl ST B 1

(e ST
To calculate disposable income ............ taxes are deducted from personal
income. (direct; indirect)
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23. e 8% 95 % © S VAN YE HT B (e giae) 1
........... sector is that sector which renders services. (Secondary; Tertiary)
24, .o T # e T S 2 (BT Rre; &0 oiie 3% o) 1
............ are included in money. (Only coins; currency and bank deposit)
25. T
G T = oo AT ST TS Sl 1
b STHT T HET STHT
Credit multiplier = ............. Demand dep(?SItS; Cash depos1t§
Cashdeposits ~Demanddeposits
26. TTYER! VTR & &G & FTAR ovvnn T | ST B 1
(orget e, gt dorm)
According to classical theory of employment .............. is a normal situation.
(less than; full employment)
27. FW G > FA MR = .ocoevee (2 &1 §57c; ST &o7e) 1
Total expenditure > Total receipts = ............ (deficit budget; surplus budget)
28. MR T B ST BIT ovveennnes T i g (797 og97) 1
Balance of trade includes only ............ items. (visible; invisible)
=it #eT el & T T FaRy
State whether the following statements are true or false :
29. ‘FYIEA & G AHh JEH 1890 H YN &3l 1
'Principles of Economics' was published in 1890.
30. & TCE 6 Th GEX B HC A 1
Two indifference curve can cut each other.
31. wfora aegelt # AF AR ekl & 1

Demand for substitute goods is elastic.
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39.

40.
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(8)
it @ ik § BB A< T Bl

There is no difference between supply and stock.

TET FOT ) N SR o & iAd &ir 2l

Personal income includes interest on national debt.

ged gfawd # | P W A i ol

Law of diminishing returns is applicable on agriculture.

T & e e e i 2

Money consists of currency note only.

G &6 ar/g H1 ST 78w G

Commercial bank cannot create credit.

ol SrfeFae § , AD=C +1+ G + (X - M) B
In an open economy; AD=C+1+ G+ (X-M)

‘FU TH AR A ol

'Tax' is a legal payment.

THA To1C J0% a9 S 6 S o

The government budget is presented every year.

T 39 H PR Tger ST qgferd eiel ol

Balance of payments of a country is always balanced.
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